Efficiency vs dr

efficiency vs AR

w o
E N B

o

IT T

i
i H
—s— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

1
TP min AR

[ Efficiency vs dr (track,jet) |

=

[}

0 0.18F
E F
o

£0.16f
20.14F

P2y o
=0.12F
(3]

effici

0.04f

Ratio

0.2

0.1F
0.08F
0.06F

0.02F

q

0.8

0.6F

1073

1072 107
AR(TP, jet)

Efficiency vs pu

efficiency vs PU

Ratio

©
a

0.45F

©
»
I

0.35F

o
w
T

0.25E
0.2F
0.15F
0.1
0.05F

.................................................

......................

......................

0.8

0.6

Qs

...................

120 140
Pileup

—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom



	Contents
	Page 1


